

4500096469

Date: 12/14/2017 Page 1 of 6

Ship To:

CITY OF SAN DIEGO PARK & RECREATION DEPARTMENT 202 "C" STREET, FLOOR 5 SAN DIEGO CA 92101-4806

Bill To:

Open Space 202 C Street, 5th Floor San Diego CA 92101

Billing Contact: DAVID TRAN

Telephone:

E-Mail:davidt@sandiego.gov

Vendor: Aztec Landscaping Inc

7980 Lemon Grove Way

Lemon Grove CA 91945-1820

Terms:

within 30 days Due net

Delivery Terms: FOB Destination

Buyer: Katrina McDonald

Telephone: 619 236-6038

Vendor ID: 10017383 Telephone:619-464-3303 E-Mail: rafael@azteclandscaping.com E-Mail: KMMcDonald@sandiego.gov

ine#	Item ID/Description Serv # Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc U Conv Factor	oM Exte	Extended Price	
1	LANDSCAPE MAINT - CAT I	06/30/2018	3 MON	2617.92 MC	N USD	7,853.76	
	PO MOD for current RFP in evaluation. RFP is now being route signature. Services cannot be interrupted for 1-3 week periods.	d for					
	Rancho Bernardo MAD - Provide interim services on a month to for landscape maintenance beginning 12/16/2017 through 03/16						
	DIR Project ID: 222921						
	Please include PO number on all invoices and email invoice to: jstorniolo@sandiego.gov or by U.S. mail to the billing address a on the PO to the ATTN: Joe Storiolo. If questions, please contastoriolo at 619-685-1321.						
**	Item partially delivered						
2	LANDSCAPE MAINT - CAT II	06/30/2018	3 MON	2572.67 MC	N USD	7,718.01	
**	Item partially delivered						
3	LANDSCAPE MAINT - CAT III	06/30/2018	3 MON	540.67 MC	N USD	1,622.01	
**	Item partially delivered						
4	LANDSCAPE MAINT - CAT III (A)	06/30/2018	3 MON	850.17 MC	N USD	2,550.51	
**	Item partially delivered						
5	LANDSCAPE MAINT - CAT V	06/30/2018	3 MON	2691.33 MC	N USD	8,073.99	
**	Item partially delivered						
6	LANDSCAPE MAINT - CAT V (A)	06/30/2018	3 MON	1008.67 MC	N USD	3,026.01	
**	Item partially delivered						
	Item partially delivered Terms and Conditions of this Purchase Order are availaged.	ship at latte //acadiana					

IMPORTANT!

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to 'Billing Contact person at Bill-To address listed above

SEE LAST PAGE FOR TOTAL



PO No. 4500096469

Date: 12/14/2017

Page 2 of 6

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
7	LANDSCAPE MAINT - CAT V (B)	06/30/2018	3 MON	1595.83 MON	USD 4,787.49
***	Item partially delivered				
8	LANDSCAPE MAINT - CAT VI	06/30/2018	3 MON	109.08 MON	USD 327.24
***	Item partially delivered				
9	LANDSCAPE MAINT - CAT XI	06/30/2018	3 MON	744.17 MON	USD 2,232.51
***	Item partially delivered				
10	LANDSCAPE MAINT - CAT XIV	06/30/2018	3 MON	507.00 MON	USD 1,521.00
***	Item partially delivered				
11	LANDSCAPE MAINT - CAT XIV (A)	06/30/2018	3 MON	383.17 MON	USD 1,149.51
***	Item partially delivered				
12	LANDSCAPE MAINT - EXTRA LABOR	06/30/2018	250 EA	21.00 EA	USD 5,250.00
	with such provisions before commencing services. A. PREVAILING WAGES. Pursuant to San Diego Municipal Co 22.3019, construction, alteration, demolition, repair and mainter work performed under this Contract is subject to State prevailin laws. For construction work performed under this Contract cum exceeding \$25,000 and for alteration, demolition, repair and ma work performed under this Contract cumulatively exceeding \$1 Contractor and its subcontractors shall comply with State prevawage laws including, but not limited to, the requirements listed I This requirement is in addition to the requirement to pay Living pursuant to San Diego Municipal Code sections 22.4201 throug Contractor must determine which per diem rate is highest for ecclassification of work (i.e. Prevailing Wage Rate or Living Wage and pay the highest of the two rates to their employees. Living applies to workers who are not subject to Prevailing Wage Rate 1. Compliance with Prevailing Wage Requirements. Pursuant to 1720 through 1861 of the California Labor Code, Contractor and subcontractors shall ensure that all workers who perform work of Contract are paid not less than the prevailing rate of per diem woth the prevailing the design preconstruction phases of construction including, but not limited inspection and land surveying work. 1.1. Copies of such prevailing rate of per diem wages are on file City of San Diego's Equal Opportunity Contracting Department available for inspection to any interested party on request. Copithe prevailing rate of per diem wages also may be found at http://www.dir.ca.gov/OPRL/DPreWageDetermination.htm. Consubcontractors shall post a copy of the prevailing rate of per diem wages determination at each job site and shall make them avail any interested party upon request. 1.2. The wage rates determined by the DIR refer to expiration of the prevailing rates determined by the DIR refer to expiration of the prevailing rates determined by the DIR refer to expiration of the prevailing rates determined by the DIR refer to	nance g wage ulatively sintenance 5,000, illing below. Wage gh 22,4245. ach e Rate), Wage es. o sections d its under this vages as strial n and d to, e at the and are les of utractor and its em lable to			
Notes: T	the published wage rate does not refer to a predetermined wag he Terms and Conditions of this Purchase Order are availa		gov/purchasing/	SEE LA	ST PAGE
	IMPORTANT!				TOTAL

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to *Billing* Contact person at *Bill-To* address listed above



PO No. | 4500096469

Date: 12/14/2017

Page 3 of 6

_ine#	Serv#	tem ID/Description Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
		piration date, then the published rate of wage	shall			
	•	ife of this Contract. If the published wage rate				
	refers to a predeter	mined wage rate to become effective upon exp	oiration			
	of the published wa	ge rate and the predetermined wage rate is or	n file			
	with the DIR, such	predetermined wage rate shall become effective	e on the			
	date following the e	xpiration date and shall apply to this Contract	in			
	the same manner a	s if it had been published in said publication.	If the			
	predetermined wag	e rate refers to one or more additional expiration	on			
		al predetermined wage rates, which expiration				
	occur during the life	of this Contract, each successive predetermine	ned			
	wage rate shall app	ly to this Contract on the date following the e				
	xpiration date of the	previous wage rate. If the last of such				
	predetermined wag	e rates expires during the life of this Contract,	such			
	wage rate shall app	ly to the balance of the Contract.				
	Penalties for Viol	ations. Contractor and its subcontractors shall				
	comply with Californ	nia Labor Code section 1775 in the event a wo	rker is			
	paid less than the p	revailing wage rate for the work or craft in whi	ch			
		yed. This shall be in addition to any other				
	applicable penalties	s allowed under Labor Code sections 1720 - 1	861.			
	Payroll Records.	Contractor and its subcontractors shall comply	y with			
	California Labor Co	de section 1776, which generally requires kee	ping			
		ords, verifying and certifying payroll records, a				
		ble for inspection. Contractor shall require its				
		lso comply with section 1776. Contractor and i	ts			
		I submit weekly certified payroll records online				
		ed Labor Compliance Program. Contractor is re				
	•	contractors submit certified payroll records to t	•			
	•	d its subcontractors shall also furnish the recor				
	•	Code section 1776 directly to the Labor Commi				
	•	red in Labor Code section 1771.4.	00.01.01			
		stractor and its subcontractors shall comply with	h			
		de sections 1777.5, 1777.6 and 1777.7 conce				
		ages of apprentices. Contractor shall be held	iriirig tilo			
		r compliance as well as the compliance of their	•			
		sections 1777.5, 1777.6 and 1777.7.				
		Contractor and its subcontractors shall comply	with			
	•	de sections 1810 through 1815, including but				
		t working hours on public works contracts to	1101			
	* * *	nd forty hours a week, unless all hours worked	Lin			
	•	er day are compensated at not less than 1½ ti				
		nd (ii) specify penalties to be imposed on design				
		ubcontractors of \$25 per worker per day for ea				
	•	ore than 8 hours per day and 40 hours per we	•			
		ia Labor Code sections1810 through 1815.	OK III			
		ons for Subcontracts. Contractor shall include	at a			
	•	the following provisions in any contract they e				
		actor: California Labor Code sections 1771, 17				
		, 1810, 1813, 1815, 1860 and 1861.	111.1,			
		ion 1861 Certification. Contractor in accordance	oo with			
	0 "	de section 3700 is required to secure the payr				
		employees and by signing this Contract, Cont				
		aware of the provisions of Section 3700 of the	iaoioi			
		de which require every employer to be insured	d anainet			
		compensation or to undertake self-insurance i	•			
		compensation or to undertake self-insurance is provisions of that code, and I will comply with				
		ommencing the performance of the work of this	•			
	Contract."	o Brogram The City has its some 1 -b C	ionoo			
		te Program. The City has its own Labor Compl				
		in August 2011 by the DIR. The City will with				
		when payroll records are delinquent or deeme				
		City or other governmental entity, or it has been				
		investigation by the City or other government				
		ment(s) have occurred. For questions or assis				
		City of San Diego's Equal Opportunity Contrac	ting			
	Department at 619-					
		subcontractor Registration Requirements. This ance monitoring and enforcement by the DIR.				
otes: Th		itions of this Purchase Order are available		o.gov/purchasing/		
			, -5		SEE LA	ST PAG
		IMPORTANT!			FOR .	TOTAL
					i Oil	IOIAL
	a prompt paymen	ts, PO # must appear on all shipme person at <i>Bill-To</i> address listed abov	ents and invoices	: all invoices must be		



PO No. 4500096469

Date: 12/14/2017

Page 4 of 6

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	contractor or subcontractor shall not be qualified to bid on, be list				
	in a bid proposal, subject to the requirements of Section 4104 or Public Contract Code, or enter into any contract for public work,				
	defined in this chapter of the Labor Code unless currently regist				
	and qualified to perform the work pursuant to Section 1725.5. In	1			
	accordance with Labor Code section 1771.1.(a), "[i]t is not a vio				
	of this section for an unregistered contractor to submit a bid that authorized by Section 7029.1 of the Business and Professions 0				
	Section 10164 or 20103.5 of the Public Contract Code, provided	•			
	contractor is registered to perform public work pursuant to Secti				
	1725.5 at the time the contract is awarded."	ha ia			
	9.1. A Contractor's inadvertent error in listing a subcontractor who not registered pursuant to Labor Code section 1725.5 in a response.				
	solicitation shall not be grounds for filing a bid protest or ground				
	for considering the bid non-responsive provided that any of the				
	following apply: (1) the subcontractor is registered prior to bid opening; (2) within twenty-four hours after the bid opening, the				
	subcontractor is registered and has paid the penalty registration	n fee			
	specified in Labor Code section 1725.5; or (3) the subcontractor	r is			
	replaced by another registered contractor pursuant to Public Co	ontract			
	Code section 4107. 9.2. A Contract entered into with any Contractor or subcontractor.	or in			
	violation of Labor Code section 1771.1(a) shall be subject to c	=: ::::			
	ancellation, provided that a Contract for public work shall not be				
	unlawful, void, or voidable solely due to the failure of the awardi body, Contractor, or any subcontractor to comply with the requir				
	of section 1725.5 of this section.	rements			
	9.3. By submitting a bid or proposal to the City, Contractor is				
	certifying that he or she has verified that all subcontractors used				
	this public works project are registered with the DIR in complian Labor Code sections 1771.1 and 1725.5, and Contractor shall p				
	proof of registration for themselves and all listed subcontractors				
	the City at the time of bid or proposal due date or upon request.				
	10. Stop Order. For Contractor or its subcontractor(s) engaging				
	performance of any public work contract without having been re in violation of Labor Code sections 1725.5 or 1771.1, the Labor				
	Commissioner shall issue and serve a stop order prohibiting the				
	the unregistered Contractor or unregistered subcontractor(s) on	ALL			
	public works until the unregistered Contractor or unregistered				
	subcontractor(s) is registered. Failure to observe a stop order is misdemeanor.	i a			
	11. List of all Subcontractors. The City may ask Contractor for the	he most			
	current list of subcontractors (regardless of tier), along with their				
	DIR registration numbers, utilized on this contract at any time du performance of this contract, and Contractor shall provide the lis	•			
	within ten (10) working days of the City's request. Additionally,	J.			
	Contractor shall provide the City with a complete list of all				
	subcontractors utilized on this contract (regardless of tier), within				
	ten working days of the completion of the contract, along with th registration numbers. The City shall withhold final payment to	ieli DIK			
	Contractor until at least 30 days after this information is provided	d to			
	the City.				
	 Exemptions for Small Projects. There are limited exemptions installation, alteration, demolition, or repair work done on project 				
	\$25,000 or less. The Contractor shall still comply with Labor Co				
	sections 1720 et. seq. The only recognized exemptions are liste	ed below:			
	12.1. Registration. Contractor will not be required to register with	h the			
	DIR for small projects. (Labor Code section 1771.1). 12.2. Certified Payroll Records. The records required in Labor C	ode.			
	section 1776 shall be required to be kept and submitted to the C				
	San Diego, but will not be required to be submitted online with	the DIR			
	directly. Contractor will need to keep those records for at least the				
	years following the completion of the contract. (Labor Code section 1771.4).	tion			
	12.3. List of all Subcontractors. Contractor shall not be required	to			
	hire only registered subcontractors and is exempt from submitting	ng the			
	list of all subcontractors that is required in section 11 above. (La	abor			
Notes: T	I The Terms and Conditions of this Purchase Order are availa	ble at http://sandiego	o.gov/purchasing/		
	The second control of		2 F	SFFIA	ST PAGE
	IMPORTANT!				
				FUR	TOTAL
o ensur	re prompt payments, PO # must appear on all shipm to <i>Billing</i> Contact person at <i>Bill-To</i> address listed abo	nents and invoices	all invoices must be		
an ecteu i	to billing Contact person at bill-10 address listed abo	746			



PO No. 4500096469

Date: 12/14/2017

Page 5 of 6

Line#	Item ID/Description Serv# Service Descrip	Del.Date otion	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	Code section 1773.3). B. Living Wages. This Contract is subject to the City' Ordinance (LWO), codified at SDMC sections 22.420 LWO requires payment of minimum hourly wage rate unless an exemption applies. SDMC section 22.4225 Contractor to fill out and file a living wage certification City Manager within thirty (30) days of Award of the Gand health benefit rates are adjusted annually in acc section 22.4220(b) to reflect the Consumer Price Indicontracts, financial assistance agreements, and City agreements must include this upward adjustment of employees on July 1 of each year. In addition, Contringerier all of its subcontractors, sublessees, and consubject to the LWO to comply with the LWO and all a and rules. 1.1. Exemption from Living Wage Ordinance. Pursual 22.4215, this Contract may be exempt from the LWO on this exemption, Contractor must complete the Living Application for Exemption. C. Highest Wage Rate Applies. Contractor is require applicable wage rate where more than one wage rate	s Living Wage Of through 22.4245. The as and other benefits 5 requires each in with the Contract. LWO wage ordance with SDMC lex. Service facilities wage rates to covered actor agrees to actor agrees to actor agrees to applicable regulations ant to SDMC section O. For a determination ing Wage Ordinance d to pay the highest			
13	LANDSCAPE MAINT - CAT I	06/30/2018	6 WK	654.48 WK	USD 3,926.88
***	Rancho Bernardo MAD - Modify PO# 4500096469 to for the period of 03/19/2018 - 04/27/2018. Please include PO number on all invoices and email jstorniolo@sandiego.gov or by U.S. mail to the billing on the PO to the ATTN: Joe Storiolo. If questions, ple Storiolo at 619-685-1321. Item completely delivered	invoice to: g address as shown			
14	LANDSCAPE MAINT - CAT II Item completely delivered	06/30/2018	6 WK	643.17 WK	USD 3,859.02
15	LANDSCAPE MAINT - CAT III Item completely delivered	06/30/2018	6 WK	135.17 WK	USD 811.02
16	LANDSCAPE MAINT - CAT III (A) Item completely delivered	06/30/2018	6 WK	212.54 WK	USD 1,275.24
17	LANDSCAPE MAINT - CAT V Item completely delivered	06/30/2018	6 WK	672.83 WK	USD 4,036.98
18	LANDSCAPE MAINT - CAT V (A) Item completely delivered	06/30/2018	6 WK	252.17 WK	USD 1,513.02
19	LANDSCAPE MAINT - CAT V (B)	06/30/2018	6 WK	398.96 WK	USD 2,393.76
Notes: Th	ne Terms and Conditions of this Purchase Order	are available at http://sandiego.g	ov/purchasing/	OFF LA	CT DAGE
	IMPORTA	ANT!			AST PAGE TOTAL



PO No. 4500096469

Date: 12/14/2017

Page 6 of 6

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Exter	ided Price
***	Item completely delivered					
20	LANDSCAPE MAINT - CAT VI	06/30/2018	6 WK	27.27 WK	USD	163.62
**	Item completely delivered					
21	LANDSCAPE MAINT - CAT XI	06/30/2018	6 WK	186.04 WK	USD	1,116.24
**	Item completely delivered					
22	LANDSCAPE MAINT - CAT XIV	06/30/2018	6 WK	126.75 WK	USD	760.50
**	Item completely delivered					
23	LANDSCAPE MAINT - CAT XIV (A)	06/30/2018	6 WK	95.79 WK	USD	574.74
**	Item completely delivered					
24	LANDSCAPE MAINT - EXTRA LABOR	06/30/2018	83 EA	21.00 EA	USD	1,743.0
lotes: Ti	he Terms and Conditions of this Purchase Order are availal	ble at http://sandiego	.gov/purchasing/	Line Item Total		68,286.0
	IMPORTANT!			Tax	\$	0.0